HPC Polar Coordinates 9.6
P=(r,0)

¥ = directed distance

6 = directed angle _
0 » Polar Axis
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HPC Polar Coordinates 9.6

Coordinate Conversion

The polar coordinates (7,8)are related to the rectangular coordinates (x,) as follows:
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Polar to Rectangular Conversion
Convert each polar coordinate to rectangular coordinates.
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Rectangular to Polar Conversion
Convert each rectangular coordinate to polar coordinates.
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HPC Polar Coordinates 9.6

Equation Conversion

Point Conversion :  Polar to Rectangular — Straightforward
Rectangular to Polar — More Involved

Equation Conversion: Polar to Rectangular =& More Involved
Rectangular to Polar > Straightforward
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HPC Polar Coordinates 9.6

Plot the polar coordinate. Convert the polar coordinate to rectangular.
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HPC

Polar Coordinates

Plot the given rectangular coordinate and find TWO sets of polar coordinates for 0<6 <27z
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HPC Polar Coordinates 9.6

Convert the rectangular equation to polar form. Assume a > 0.
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HPC Polar Coordinates

9.6
Convert the polar equations to rectangular form.
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